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Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667435
Question Shuffling Allowed : No

Question Id : 23366710873 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training 1is precisely
that which one gets through having to enter into proper relations with
others mm a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render 1t difficult
or impossible to get any genuine, regular moral traming.

Sub questions

Question Number : 1 Question Id : 23366710874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of
Options :

.« individual existence

, « religious life

, « spiritual life
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. v social life

Question Number : 2 Question Id : 23366710875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Moral training, according to the passage, effects
Options :
. »aunity of work and thought

, . entering into proper relations with oneself
. » the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366710876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as

Options :
.« Critical

, . adulatory
, » defensive

., «» indifferent

Question Number : 4 Question Id : 23366710877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage 1s
Options :
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. spiritual education / spiritual training
, » work education / work training
. » moral education / moral training

, « thought education / thought training

Question Number : 5 Question Id : 23366710878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
Options :

.« Conception

, « Neglect

;v Precise

. » Genuine

Sub-Section Number : 2
Sub-Section Id : 233667436
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366710879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Correct the underline word in the sentence below. by substituting with the correct word

[ pray for god to give me strength
Options :

. regarding
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). v 10
3 ® Of

. « With

Question Number : 7 Question Id : 23366710880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

1. ® the

). v adll

% d

(98]

, » o article

Question Number : 8 Question Id : 23366710881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This 1s car my friend bought last week
Options :

1.« the

2.$$an

3% d

4 »no article

Question Number : 9 Question Id : 23366710882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 5/133



6/7/25, 12:41 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Indeed, I am not sure his success
Options :

1.« Of

, « regarding

;. » about
4 % Off

Question Number : 10 Question Id : 23366710883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse
Options :
. = after

, « against

4. Off

Question Number : 11 Question Id : 23366710884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again, to discuss the matter
Options :

.= Comittee

, » Commuitee
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;. v Committee

4. » Comitee

Question Number : 12 Question Id : 23366710885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are 1n a mood
Options :

.~ buoyant

, » buoyent
, « boyant

Question Number : 13 Question Id : 23366710886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard, he passed

Options :
|« has

, » had been
;. »would have

.+ » have been

Question Number : 14 Question Id : 23366710887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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[ wish I her address

Options :

|« know

, » have known

, » may know

. v knew

Question Number : 15 Question Id : 23366710888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Incredulous means
Options :
 » obliterate

, » skeptical

.« bractical

, « INsane

Question Number : 16 Question Id : 23366710889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means

Options :
| o Very steep

, « very deep
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. « presumption

, » nascent

Question Number : 17 Question Id : 23366710890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for ingenuous

Options :
.« Clever

, » Ingenious
, v honest

. » Indecent

Question Number : 18 Question Id : 23366710891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness 1s a synonym for
Options :
.« abjure

, » enigma
« skip

4. v aCUINCI1

Question Number : 19 Question Id : 23366710892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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[nvincible 1s an antonym for
Options :

. »conquerable

, . transparent

, » f1asco

Question Number : 20 Question Id : 23366710893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly
, « S0 as to play with his friends, he finished his home work quickly
. « He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends. he finished his home work quickly

Question Number : 21 Question Id : 23366710894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally”
Options :
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. In spite of several obstacles, she succeeded finally
, « Not withstanding several obstacles, she succeeded finally

.~ Though there were several obstacles, she succeeded finally

, « There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366710895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into passive voice

“I saw him opening the door”
Options :
. I saw the door and he was opening 1t

, « Opening the door, he was seen by me
. » 1 saw the door being opened by him

, » He was seen by me while opening the door

Question Number : 23 Question Id : 23366710896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :

.« I waited for two hours because of him
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, ., He kept me waiting for two hours

g01.digialm.com/CAE/viewHtmIPDFAction.action

, « He 1s waiting for me for two hours

, » | was watting for two hours for him

Question Number : 24 Question Id : 23366710897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech

“I will bring my laptop tomorrow”, she said
Options :

.« She said she would bring my laptop the next day
, . She said that she would bring her laptop the next day
. « She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366710898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:

“She said that she loved pizza so much”
Options :

. »She said, “I love pi1zza so much”

, « She says, “I love pizza so much”
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. « She said, “I loved p1zza so much”

g01.digialm.com/CAE/viewHtmIPDFAction.action

, « She says, “I loved p1zza so much”

General Knowledge

Section Id : 233667364
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667437
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366710899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India is to:
J
Cfpff[,/u":?[mlcf[/bix__-’ J.MJ‘_/*"LJ
Options :

Formation of laws ,

. /v e
s
1% ¢L“/JU‘:'})
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Conducting elections

)Ml L/I-QI:I_';':}

2.

Pass budgets |

(f/}i/ll(jb%

Managing Parliament sessions

s Ko £ vk

Question Number : 27 Question Id : 23366710900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake in India is:

/ F b _ T ia .
b 000 ot 6l o 33k O

Opﬁoz;:cmbanad Lake
b |«
1. % (J’:-a? - L:f‘:‘}

Dal Lake

e
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Wular Lake

3. (}:"lj?/j)

Chilika Lake
R

Question Number : 28 Question Id : 23366710901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term "carbon footprint" refers to:

4.

4]

L/

-

/ - N
?4,)},Q¢£v_u/);m()f/

Gfowth of forests
Y/
P YR e ot
Water pollution levels A
S S AR b

Total greenhouse gas emlssmns

&1 ‘,L’/L/(j},/’ ek o)

3.
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Fuel efficiency of vehicles
B A g : % Y 1/
/ﬂ/ﬁ/duwf' s vy ¥

Question Number : 29 Question Id : 23366710902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun is:

i Loy o X0l S iy o0 Vs

Aditya-L1
-~ /J
| 1. Py
Chandrayaan

Surya-N1

L

1. ¢
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Vikram Lander
' 7
s jidl "/

Question Number : 30 Question Id : 23366710903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The 'Green Revolution' in India was mainly associated with:

¥ b ) c‘—’f/f/;f b s>l wuul/_/w ST

Options :

[rrigation reforms

<o ya? | fo’l; G
Industrial development
)% Ljo‘/.f UJ/A/
Agricultural productivity

Syl S

3.¢
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Environmental protection
bos Uy Lo

Question Number : 31 Question Id : 23366710904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a fundamental right in the Indian Constitution?

. - . . Vo ‘ i
gq:’()fdﬂ-L,"Q.“u*,” olgm Le0sd vy S 2

Right to Equality
6) L/ &/’ }’

Right to Property

1. %

sl b

2.

Right to Education
3. %
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Right to Freedom

% Y g0

4.%

Question Number : 32 Question Id : 23366710905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UNESCO stands for:

" S
/- gy
2y AN o
Options : i
United Nations Educational, Scientific and Cultural Organization
T ... S e gr 9!
Universal Science and Culture Organization

5 '5‘/.7/’ N N :
U’:‘f/;:’UH/?) /f'uj' UM’L" Jros ¥

\

§

1.¢

2. %
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United Nations Environmental, Scientific and Cultural Organization

ff:*;@é[ﬁ 51 U,',’.L,, “ Uyl G/d/.;’/‘ !

3. %

Union of National Education, Science and Culture Organisation
s} d/r[-wc;—.’tljl;’ut“’b" ’f“f""u’-”

Question Number : 33 Question Id : 23366710906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:

or - P [J l)"z»:’/ﬁ/;/
Options : c‘f’ M d /)J ‘/ﬂ)’)} C

Lok Sabha and President

,J/uﬂ 51 [ﬂ-""/c-)/)’]

1. %
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Lok Sabha and Rajya Sabha
s
bl o e
Lok Sabha, Rajya Sabha and President
} 7 4
2wl sl Ly b

Rajya Sabha and Supreme Court

32»-’)3/(‘4%/ 21 g 22

4. %

Question Number : 34 Question Id : 23366710907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand is: y,
/ / [ f1-
s & Loy g UV L

Mussoorie

Gy
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Nainital

Jhsb
Dehradun
v
V25 L2

3.

Haridwar

R & A

Question Number : 35 Question Id : 23366710908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River is known as ‘Dakshina Ganga’?

oWl bl @ 28, v L Loy Volss

Options :

Krishna
L//
1. ® .

Godavari
78
L G
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Kaveri

L'/
. 67

Mahanadi

L]

CfﬂLg

Question Number : 36 Question Id : 23366710909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'One Earth, One Family, One Future' was the theme of which recent international summit held in India?

/o e 0 s, o & AR ‘/UL’J‘”' u"f-/”
dus (! o 0 o M{, Jor K od
(€

17

@ Sumemit
L 7.2
ol 76
SCO Summit

el A s T
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G20 Summit
Lol gl 2006

BRICS Summit y

Question Number : 37 Question Id : 23366710910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary role of NITI Aayog is to: ”
oo 2 e ¥ Sl

|' -
Options :

Conduct elections

>t Vel

Formulation of policies and strategies

Ly o A
J:J«ﬂfo’(_)f:,u‘l?ﬂ” Uy:’-”;

2.9
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Collecting taxes
/
34 4
. W

Enforcement of laws

3.

S g

4. %

Question Number : 38 Question Id : 23366710911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first Indian woman to go into space was:
0o Ol (ol QY 1l g A
FUCMU"’J (;J)J(;-Ug u’()L—,/f/f G?.a_. o
Options :
Sunita Williams

/;/3_]; b}w
1. ®

Kalpana Chawla

r'ﬂf; C,L/
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Ritu Karidhal/_
)j ~
3 % (}&-/l )f//
Tessy Thomas

-}
g g

Question Number : 39 Question Id : 23366710912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?

y B ' 4 b2
fé”d’éc—*f@a”};’%ﬁﬂ o g db e Logsy

Options :
Germany
L]
B v A
France
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[taly
&

United Kingdom

.

Question Number : 40 Question Id : 23366710913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti® was related to: p

) LA
A itV )
Options :

Women's empowerment

.

; bl Lot by 17

1

Anti-satellite missile test

_ ¢ b
L 2 £
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Cybersecurity program

/
Py o AL

3. %
Skill development for youth
‘ # 7o
s ; ParE
4. % ‘ L =
Teaching Aptitude

Section Id : 233667365
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667438
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366710914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment is:
/ § vl 1 -
WIS W
&= g 8
Options :
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To assign final grades

/ . "f\, T = : >
e ey by, &
To evaluate teaching staff
L 07 b V IE (57
To improve learning while it is happening
Boyn = F F
fat py B2l ol g
3. > Ct:J Lf/l 09/

To promote students
2l S
A2 ey oL

Question Number : 42 Question Id : 23366710915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which learning theory is associated with operant conditioning?

: / 2 7
- a /‘,- ) ol I sily i &

Piaget’s theory

B
LG Rl

Skinner’s theory

Maslow’s theory

G gl

Gardner’s theory
, vy
Gy 0 50 b

Question Number : 43 Question Id : 23366710916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

Authoritarian discipline

. 0 " ~
o s fﬁu J'/ﬂ I
Passive learners
[ sl JB
2y sthr Jbs
Student participation and dialogue
st =ity
LA 2
Teacher-centred teaching
L | N . r..-.LI /
/,}v e 4 o
4, ®
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A democratic classroom environment encourages:

o TR / !
aUi§U Loy th idple ¢ e %/é‘w"' A
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Question Number : 44 Question Id : 23366710917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one is an example of intrinsic motivation?

JLA | Lo guj,labdwﬂf

Prize for winning

1. %
Fear of punishment
S A
Desire to learn
e A A
ol 8 L0
Parental pressure

5 bs Ver A?

3. ¢

Question Number : 45 Question Id : 23366710918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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A teacher using Bloom’s Taxonomy should aim at which higher-order skill?

A . S : /
Lot gl Vol Ay LA\ Y G o G Sb
Remembering facts

‘ J )
. Lk eb

Applying definitions
LY Sy it
Ly Ju o™
Creating new knowledge

Ry

Understanding rules
A
LLF7 9 v 9

Question Number : 46 Question Id : 23366710919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2. ®
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In pedagogy. ‘feedback’ helps:

a 7 Co =
Vo tpod et

Options :

Punish students
-
LY ’ :
A i w

Modify teaching strategies
Ay

y
S u Lt
| Give homework
t,: > ‘__)f:r/" f %
Mark attendance

: I
Lol 5 a2t

Question Number : 47 Question Id : 23366710920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which among these promotes inclusive education?

- o
0l gy 3 @ el g0 2o

Segregated classrooms
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Fixed curriculum
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Adaptive teaching methods

Competitive grouping
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Question Number : 48 Question Id : 23366710921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Which is a barrier to effective classroom communication?
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Options :
Use of visual aids

J QJJ’ Vv T S
Clear articulation

% w2l

Language mismatch
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Active listening
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Question Number : 49 Question Id : 23366710922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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A good teacher evaluates students by:

f:
el oh ghs gy e b

Options :
Comparing them with others

» /

L/J;J)L,/ Vol gl. Sys 55
Judging their behaviour
LI ) W Ve r) Lo
I[dentifying strengths and weaknesses
. Yl dyprh o 0558
[gnoring slow learners

U e 2

Question Number : 50 Question Id : 23366710923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Effective teaching is primarily about:
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Options :

Completing the syllabus
b yde 7 — Lo
Giving maximum homework

o Sitw ol o ol

2.

Enhancing understanding and engagement

lafy i 2 i (1)

Following textbooks strictly

3. ¢
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Botany Urdu
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Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667439
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 23366710924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Bentham and Hooker classification, which of the following families belongs to the
Gamopetalae group?
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Options :
Annonaceae

s

Cucurbitaceae

L e X
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Euphorbiaceae
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3.

Asteraceae
b
\ v . )-":" )

Question Number : 52 Question Id : 23366710925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following correctly describes the structural composition of the Tobacco
Mosaic Virus (TMV)?

. S 7 ,
//)k(.sﬂy/hj«:‘/f c}vL.(va)(_r/UJLv;-ﬂ Sl 9 b RESPOwIST
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Options :

Enveloped RNA virus with helical symmetry
$ i ’
O )2 AN A \Aft-:/léb%b O*_fdzzd’:’/d:{
Non-enveloped DNA virus with icosahedral symmetry

5 e . /S b S
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Non-enveloped RNA virus with helical symmetry
: ' S/ ,
o 212 RNAML L les o oo i 2 G

Enveloped DNA virus with complex symmetry

3. ¢
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Question Number : 53 Question Id : 23366710926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Prions are composed of:
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Options :
e

« RNA !

—_—

.DNA  yipisS

; Db
Proteins () s 7/;

3. ¢

Lipids ‘;JJ
4 % 2

Question Number : 54 Question Id : 23366710927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following is an example of a Cyanobacterium?

Jlodf o 25 e

Options :

Bacillus

Nostoc
/P i
re Ayl
Streptomyces

2
AV 524

Mycobacterium

3.
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Question Number : 55 Question Id : 23366710928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Which bacterial recombination method involves the transfer of genetic material using a
virus?
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Options :

Conjugation

/;/ [
1. % Lu)

Transformation

2. %

Transduction

» Vvl

Binary Fission
Vg
A Y e

Question Number : 56 Question Id : 23366710929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which fungus is responsible for causing Blast of Rice disease?

/
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Options :

Rhizopus
3
gt 2l

1. %

Puccinia
L:'L:/' t_,l;
Aspergillus

Magnaporthe oryzae

5 - b
L e H sl s

Question Number : 57 Question Id : 23366710930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which pigment is characteristic of Rhodophyceae (Red Algae)?
/0 W , | -
S LUV P ST APl E S22 0e (S 2)”) 2D

Options :
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Chlorophyll-a
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Phycocyanin
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Phycoerythrin
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Question Number : 58 Question Id : 23366710931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following algae has a diplohaplontic life cycle?

Talor ooy U LLS F (T puc 2l f 5270

Options :
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Spirogyra
1. ® / - E
Polysiphonia
I : i
2. PJ‘):’/ . %”
Chlamydomonas
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Ulva
2
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Question Number : 59 Question Id : 23366710932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a liverwort?

/
?d\i))l))ag Lo o) e ety

Options :
Marchantia
| P
A LD
1. Lf'“-‘) 4
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Funaria

L a2

Polytrichum

[ |

LA
Riccia

Wy
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Question Number : 60 Question Id : 23366710933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In bryophytes, the dominant phase of the life cycle is:

e Lo J Ao r 3 ur o> LGy 12

Sporophyte
s
. ol

1.
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Gametophyte
g
AR

Both phases are equal

2.

s sln Jo pO P22

Protonema
v )
. e v 2/

Question Number : 61 Question Id : 23366710934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pteridophytes reproduce by:

s erip el ot ol

L

Options :

Seeds
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Buds
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Conidia
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Spores
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Question Number : 62 Question Id : 23366710935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Smith’s (1955) classification, which of the following is not a division of
Pteridophyta?

n Y / .
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Options :

Psilopsida

5
N
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Lycopsida
) S ;—@é 1)

Gymnosperms

(~,27) 32,

Pteropsida

2. %

3. ¢

¥ 4
« Valsest

4.

Question Number : 63 Question Id : 23366710936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following i1s a gymnosperm?
7 (g.’-d-:/)f-’/_‘/:);,z Lo @) of e’ Wi
Options :
Mango

P

(’l
1. *

Cycas

2. ¢ oL
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Pea

Question Number : 64 Question Id : 23366710937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[n Pinus, the male cones are found?

. 7 , ‘ m,
Stite u}JUijy,f/U:"o‘”l;‘
Options :
On upper branches

rosi,s)
[n the axils of megasporophylls
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On lower branches
poFe
3. . X

At the base of ovules
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Question Number : 65 Question Id : 23366710938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term ‘taxonomy’ was coined by:

/ i @
SCE'\)f ket yﬁ(é/u«f/‘d |)’/Lj_',¢ 2 bt
Options :

Carolus Linnaeus
- U= (_5‘),.0"' Pl
A.P. de Candolle

b
23>J K&t? .(_5_}-4—‘
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Bentham

Hooker

.

Question Number : 66 Question Id : 23366710939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is correct in relation to the Typification principle?

/' g 25 A e, A
Yo g S g e 30 L ey B g A

Options :

[t is irrelevant for nomenclature
[t only applies to extinct species
&2 (e py PN 200 o

A taxon must have a nomenclatural type

e l;t;gu:i(fw‘g A{UL{/J/{

3.¢
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All names must be registered in databases
v b b o 2
e = S T

Question Number : 67 Question Id : 23366710940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Systematic taxonomy aims to

/ = i
GU“_JLLQMEDJ(J—*; () »€) (J‘W"

Options :

Classify plants alphabetically
A
| L U/:}’,n?/ﬁcf-‘—;tf&(_{{u,r/yu 09

Describe plants only morphologically
¢ i TR AR PT &
[ s\ 22 LS 5 0 Jus 5]
Study evolutionary relationships

L'/M! Ll 2 3k éi-if/‘

3. ¢
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Ignore ecological roles
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Question Number : 68 Question Id : 23366710941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The science of geographical distribution of plants is called as:

y @ _-& .
S,UA;Z%_/L:{))/K)}J)_}L-/NLLJKK_"J) 4 L_»H//& Ls> Y

Ecology

W g0 le

1. ®
Phytogeography
2.¢ Aﬁ-y‘/ﬁzk‘g []"

Floriculture

3. % G)"/;dg/
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Paleobotany

S

4. %

Question Number : 69 Question Id : 23366710942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Wallace’s Line separates the:

TPy | .S
G2 8 S E) e omw PU 2
Options :
Palearctic and Nearctic realms
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Oriental and Australian regions
y
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Ethiopian and Palearctic regions
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Neotropical and Nearctic zones
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Question Number : 70 Question Id : 23366710943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Vascular bundles in dicot stems are:

S e c,_/d‘lﬁe/')ﬁwof Us> gt 95

Options :

Scattered

Closed and radial

i 4o
by WAy
2. % - =

Conjoint and collateral

3.w§)1—"‘:’°/‘” s’
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n

Question Number : 71 Question Id : 23366710944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Casparian strip is found in the:

i 5 L ' /J
2db dbarurg Moy 2

Options :

Cortex

i
" (J—J;:'/l‘/;

Epidermis

1.

o-erb sl

2. ®
Endodermis
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o ' i Pl
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Xylem

b
P

Question Number : 72 Question Id : 23366710945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Double fertilization i1s characteristic of:

: e
AN & YA RIS VAN
Options :
Gymnosperms

P ST

Algae

R &

Bryophytes
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3.
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Angiosperms

)

Question Number : 73 Question Id : 23366710946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Polygonum type embryo sac, the number of nuclei at maturity is:

- // sl 8 P : /5 i 4
gUAici)fé}//ft:lw)L—ufy{—UfUl)(ffﬁir‘_"((”/dj‘f
Options :

1% 0
2% 4
v 8
w1

Question Number : 74 Question Id : 23366710947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The ecological succession that occurs in an area where water availability is extremely low
is called:
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Options : :

Xerosere
1.¢ /:/ pjj/
Halosere

LY

Hydrosere

L5
3. ® /9/ }:-0[{.
Psammosere
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Question Number : 75 Question Id : 23366710948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following is NOT a component of an ecological food web?

¢ ., - J
8 A g iod W DBV G@ybu}fc«;qﬁul
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Options :

, Producers S1 LB AR A

.« Decomposers ¥ ,u»/ (H >

Bio accumulators

of}_L"f.‘r‘ >

Consumers

3.¢

Question Number : 76 Question Id : 23366710949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following represents a population?

Q%t;j;w;u SLT e sfon ppoey |

Options :
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All plants in a forest

L oo ckid s

All deer in a forest
Lobpp Gdd

All animals in a pond

b e L L

3.0 %
All trees in India

- r-,/ = ]
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4. %

Question Number : 77 Question Id : 23366710950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Primary productivity refers to:

e v Bl o3 o sl
- o,b\m)@ou{/w'fﬁu),{

Options :
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Energy used by herbivores
él; \)TLSI,;;&;I?%/J (& (_:{;,3 J//:;-’ ol

1. %

Rate of energy release during respiration
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2ol S risr 20 bS5 L0

2.4

Total amount of energy fixed by plants in photosynthesis
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Energy flow through food chains
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Question Number : 78 Question Id : 23366710951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Biodiversity is highest in:
ool e 17”4 Loty u)

Options :
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Tropical rainforests
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Tundra
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Deserts

e/
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Temperate grasslands
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Question Number : 79 Question Id : 23366710952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a component of biodiversity?

98 G pe® ¥ 558 ey fex e !

Options :
Genetic diversity

1. ® é';;(-}\_:’
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Cultural diversity

¢ 5w G’/JJ
2. ;

Ecosystem diversity

L EFE
Species diversity
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Question Number : 80 Question Id : 23366710953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Water enters root cells by:
’ by y b
3%CM&,/G%O:"U}:"¢UU-’

L%
Options :

Endocytosis

% $5
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Active transport

- x.)/

Osmosis

.4
3. G e il
Diffusion of gases
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Question Number : 81 Question Id : 23366710954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The pressure potential of pure water is:
¢ .- -
o sbrep gl b

Options :

Zero

"
» /pﬂ
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Positive

Negative

Equal to osmotic potential

Question Number : 82 Question Id : 23366710955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a micronutrient for plants?
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Options :
Nitrogen
5
s b i
. CBE C
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Potassium

e

Iron
Lo
3. ¢ L

Magnesium

Question Number : 83 Question Id : 23366710956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Chlorosis is caused by the deficiency of:

’C‘f‘[;)f‘é*'?cf:ﬁ’?d/f /JU‘"{_)—U'/)/QK

Options :
Iron and magnesium

1. ¢
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Calcium and sulfur
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Zinc and molybdenum
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Nitrogen and boron
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Question Number : 84 Question Id : 23366710957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The net gain of ATP during glycolysis is:
) i P 4
5@%&@&5@31' uﬁ-’-/ o QU AV
Options : '

4 molecules

2%

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 70/133



6/7/25, 12:41 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

2 molecules

2.¢ A'——LJ 2’

6 molecules

6

8 molecules
A= ¥
4. %

Question Number : 85 Question Id : 23366710958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Red Drop phenomenon in photosynthesis indicates that:

—_— i '] /. f b - ..—
S“f[/ 0/&1@)’0)/:-5”%1/5):'/(}:"9.{//’@@/
Options :

Photosynthetic efficiency drops beyond 680 nm.

< / - .
,Cfl_-d [P/J//J_ffe:: C,?DMM)FM1 (_J’/%".‘fj (€ Ll

1. ¢

Photosystem I is active beyond 680 nm.
= AT/ y -
oG S L e beow 1o 10 F b

2.
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Photosystem II absorbs light beyond 700 nm.

5 . o Y
o Ui 51 K e T W5 L

3.

Chlorophyll-a does not absorb light at 680 nm.
ok i S %11 CS0mn I L

4. %

Question Number : 86 Question Id : 23366710959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary pigment involved in photosynthesis is:

5 2l Sriep | ol o 5 & L
Options :

Chlorophyll-b
-9 ¥

1. %

Xanthophyll
Y &

Carotene

+ b
e O
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Chlorophyll-a
- ~ /

Question Number : 87 Question Id : 23366710960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Photorespiration mainly occurs in:

.C{né);’DD[i)Uf(f1/0ﬂ\-; o2 Lt

Options :

Cytoplasm

Chloroplast, peroxisome, mitochondria

/ /
3. L;jjb/ﬁlp‘f‘)*@/‘/lﬂ/@%})}b

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 73/133



6/7/25, 12:41 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Only chloroplast

/.
\{MU;)/}D{’/&
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Question Number : 88 Question Id : 23366710961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Nitrogen is absorbed by plants in the form of:

- . - 50,
GO &/vkordﬁcﬁ{ﬂ/v??}” R

Options :
Nitrate and ammonium ions
5
1 yo Jr .
U}}}rc:",g—-‘]/}]“"f/y\'

1LV

N2 gas
e o2

Amino acids

2 f° 308

3, %
Proteins
‘¥
. Y

Question Number : 89 Question Id : 23366710962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following steps in nitrogen metabolism is catalyzed by the enzyme
nitrogenase?

L ) , L_f-t i g 9;5t
qdu/dfylﬁi—’g’a‘é/)é-cfﬂbwﬂ/ O_:‘-}._);G‘p Foa

Options :

Conversion of nitrate to nitrite

; g,
U e L1 ol b 2o

1. %

Fixation of atmospheric nitrogen to ammonia

Ly mrone Losmt $O2o B L & b

2.

Oxidation of ammonia to nitrite
/,_ / i b5 L S t
Xl s\ oot

Reduction of nitrite to ammonia

J}J&Jﬁtt}f?,ﬂ‘

4. %

Question Number : 90 Question Id : 23366710963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Auxins are primarily involved in:

. e
»U‘i‘;—/""}”c}’“&iﬁffﬁﬂj_’f/}bd' o 7"

Options :

Leaf fall
L2 usy
Root formation

L.
L, JSEd L

Flowering
/
3 % (_S‘f)rr‘

Seed dormancy

/ ,
L I g

Question Number : 91 Question Id : 23366710964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which plant hormone is known as the “stress hormone™?

b
¥s vy 7
PP AV VRISPINE S 4 )(’—“"’Jsz‘m%’ o~

Options :
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Cytokinin

75

Abscisic acid

27 L)

3. ¥

Ethylene
Ay

Question Number : 92 Question Id : 23366710965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The structural and functional unit of life is:

s g o iy T
S%GJU){GU‘]M/PIG"L«U(S}F/

Options :
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Organelle

SN

1. %

Nucleus

4. ~

Question Number : 93 Question Id : 23366710966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of chromosomes in human somatic cells is:

),Mﬁd'())yoy/;x_wwjﬁzuﬁbwwr”i{;‘L'—a’

1. ¢ 46
2. & 23
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s 22
s« 48

Question Number : 94 Question Id : 23366710967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the solenoid model of chromatin organization is correct?

i s 4 R ik
?‘?5éﬁutﬁbwfur’m‘@*"‘Mdbbﬁzbl’wl{w:ﬂwf/fwbﬂ/

Options :

It suggests that DNA is coiled around RNA molecules.
’ A - )=
,citLu(_m‘? DN&Q]ILJZU)_LL,EHA f"cf'(..‘t‘."f

It describes chromatin fibers coiling into a 30 nm helical structure.

- g : ) / —
L2 3L OO Ly Sy 30ma &y Plr /e G

2. ¢

It explains the direct attachment of DNA to nuclear membrane.

s t%ﬂtﬁd""@’bg»ﬂ Wes>d DNA 5 ez & WHal

3.
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It only applies to prokaryotic DNA.

A o £~
,%t)f_ﬁﬁgpﬂh&kﬂ//’/gu/p -

4. %

Question Number : 95 Question Id : 23366710968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary difference between Euchromatin and heterochromatin?

5%9/6}@1 U@))i&bpj/)ﬁ/ﬂ J’(‘?//")

Options :
Euchromatin is transcriptionally inactive, while heterochromatin is active,

- Uﬁ{JCLﬂ- &U}/ﬁ}_{ﬂ"‘tﬁ%&’ygd’ l“/;’ C{-’Lo;//)f

1. %
Euchromatin is densely packed, while heterochromatin is loosely packed.

b J s i /
g.Lme}';L Yot Utﬂ)/)}vfﬂ/%?-ﬂf‘({[oy Lsshcle Soles Jos2
2. METE = T -

Euchromatin is genetically active, while heterochromatin is tightly packed and inactive.

: , "
/,om;.’:ﬂé/igﬁlfd(}’"(}b_;//ﬁ,é_fﬂ/gtcg.b',:,()w/i s sb o= L_}/):’

3.
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Heterochromatin is found only in prokaryotic cells.

- 4 i o /J-
e b7 om0 <Ly s o plos ) s

4. %

Question Number : 96 Question Id : 23366710969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of inheritance pattern is observed in Mirabilis jalapa for flower color?

$arbliodot e 31V ol e Lo L o e Lz o) 2

Complete dominance

. e g Lo

Incomplete dominance

2. ""J\;‘ C}‘g‘j;ﬂ

Co-dominance

ekl
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Polygenic inheritance
N P tf:’/r/

Question Number : 97 Question Id : 23366710970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true about the Watson and Crick model of DNA?

¥ £ i / : )’
S o od gFertulw S 520 ome b L0 DN S sy ) 2
Options :

DNA is a right-handed double helix.
ay 6
. DN A
Aad s Wl Ko e

The two strands are held together by hydrogen bonds
= ,L 1 . b ~
xSyt byindil o )22
Base pairing follows Chargaff’s rule.

,%V}f(};lﬁ*ZdMl«Lf&;%lg (j;ﬁj?)/‘f“f{

3. %
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The two strands run in a parallel orientation.

4.

Question Number : 98 Question Id : 23366710971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g01.digialm.com/CAE/viewHtmIPDFAction.action

Lo o Cab($ J 1370 =2/ P2
"("ﬁ >

In the Lac Operon model, which molecule acts as an inducer for gene expression?

SdLAD){NILJJ})é/FV/:)}J’i‘J;;Z/ (bl 4 Qﬁwéﬂw*ﬂﬁiqﬁﬂ

Options :
[Lactose

o B
¢ /;A*U

Glucose
Tl V
Y L
Galactose

"2
; Wive

3. %
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ATP!,
S 44

4, i1

Question Number : 99 Question Id : 23366710972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary advantage of using RFLP markers in plant breeding?

(j‘itk;}d/u")%')

P L"«)Ji,?ép;éfaf;—/db;ﬁ)/uy/f{aRFLPwd“:‘ "
= 6(-:{1‘::/‘3)"5

Options :

They detect single nucleotide polymorphisms directly.

LY b5\ L] 5
Lo f_;‘;/,;,}_)l'&#i/yr'/‘Prydg» ,;L_xjf}fzg/; o9

1.

They allow analysis of DNA sequence variation in specific genes.

: e f 7 s 7P wZ Ot £09

They are less labor-intensive than RAPD markers.

- g o RAPD 5 2
,Q{{L?t’cr“;f"‘:‘“-‘*’uf"// °
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They are more cost-effective than molecular markers.

: C{(‘Efﬁi’/jf‘@fud(’ﬁ?bkicf_uyjjf Lyldls o7

4. %

Question Number : 100 Question Id : 23366710973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The enzyme involved in unwinding DNA during replication is:

P R
b o i) sf S DNA UL L (£ ¢y
Options :

DNA polymerase

Ligase
Y
Fa

2. ® =

Helicase

oIed

3. ¢ -
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Topoisomerase

' $ b
Patab and B R
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Zoology Urdu
Section Id : 233667367
Section Number : 5
Section type : Online
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Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667440
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 23366710974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following protozoan causes African sleeping sickness

: / _.
St 00 L{Lﬂu{j‘ﬁgl—c}é}’rcib}jﬁy;bw)fwd:bza/)

Options :

Plasmodium vivax

UJ/\)j}FI{'B ﬁf”u—:
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Entamoeba gingivalis

Trypanosoma lewsii
' L
. s Lapma L L 7
Trypanosoma gambiense

MCS"@.L‘}"‘}::G;J

4.¢

Question Number : 102 Question Id : 23366710975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Animals lacking excretory, respiratory and circulatory structures are

- : - 1 /" - ' ) ’
X P ey o;_:’l—-'u“?///}\(_g-ﬁ” (Bl 7V o 28 03

Options :

Sponges /

. &
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Tapeworms /

3
PN A

Liver fluke /
.
S AT

Threadworms /
b ”
u) |2 )/{_‘E

Question Number : 103 Question Id : 23366710976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The inner lining of radial chambers in sponges is formed by

gda L d-éfgi):‘) JUJ/Q’/_",(_;H;:J)L)/U,;’G d:,‘f::/ 4{0);—“/ I

Pinaco Cytes

RA UV AEY

1. ®
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Choanocytes

2. U—jj:{"')::)??

Porocytes
.
3. % U)H L"’y })‘g
Archaeocytes
b ~
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Question Number : 104 Question Id : 23366710977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This is the common factor between housefly, anopheles and cockroach

/. | -
, &lﬁ&?w‘;u}efﬂﬁ,;i@[iﬂwﬁ

Options :

three pair of legs

bt
)}?UfAU}I_‘é

1.¥
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two pair of wings

j,)) P ZUB/:{

cuticle covering the body

b 5 ’(EL { ;
LA gl ST
presence of cephalothorax
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Question Number : 105 Question Id : 23366710978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about Mytilus?

$2 5570 Lo S I oL

Options :

A Mytilus belongs to class Arthropoda of phylum Mollusca

= - - b -
1%,%6a//(;w¢1@u,15);,@azJ\£wpr}.u fo,.if'gt.o
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Mytilus belongs to class Amphineura of phylum Mollusca

d@d;mawwl/}vw .ﬁLCJ,_.(‘iL Ll

Mytilus belongs to class Pelecypoda of phylum Mollusca
. B / A TR e
‘d@ﬂu}wagmaib)gcﬁ_}@i LL-U«-’#*\Q g Lo
v ¢ -
Mytilus belongs to class Echinodermata of phylum Mollusca

&g‘fulﬂgﬁwu w;pwuﬁf (JJL ¢ s

4. %

Question Number : 106 Question Id : 23366710979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about Unio?
g '
s Eolulees) GIes o o 5
Options :
Unio has a one chambered heart

AT ISTISATAPAR VIS
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Unio has a two-chambered heart

. /o
) ,A(;y?d;ua}uyt;;),a;f},—’_
Unio has a three-chambered heart

el > We UJBO"})M”)

3.¢

Unio has a four-chambered heart

}%{_L’}:/dpplﬁd,;’l; / ‘.;?J(};;’/QJ_.,

Question Number : 107 Question Id : 23366710980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is not true about the Balanoglossus?

\ /-— s ‘(j‘

Options :
It is found in shallow waters between tide marks along the coast of warm and temperate oceans.

L 'l - y
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Balanoglossus is not world-wide in distribution.

et o o B e W

2.

Balanoglossus is tubicolous living in U-shaped burrows excavated in the sandy bottom.
Q—J)(()’);_UIF%JU.‘_’" SR E (_}-LS';U }i/d—);%i;:)/ W)jé’}:\ )}f{

The walls of the tube are lined with mucus secreted by the mucous gland of the animal.

zﬁdWLéﬁc*—"ulxﬂ V)£/P£>9ﬁ(}tf¢/ybwfiﬂ)\fu_ﬂ

4.%

Question Number : 108 Question Id : 23366710981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The larvae of Echinodermates are

L Wk zg"f'.‘_"f}).;’é\
Options :

Trochophore and Auricularia
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l;,/.:,)_ﬁfr 9| /)’)j;""/"

1. ®
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Bipinnaria and Brachiolaria

2v‘f-/,ﬁj)f—//{ /}1 {‘,_f/:;"iétf

Redia and Carcaria

) {:/,://V;;Di I:E/A_/f

Miracidium and Cysticerci.
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4. %

Question Number : 109 Question Id : 23366710982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Of how many segments Hirudinaria granulosa is made of?

£ . Plgen, P L/
qufmwoyb‘gfpﬁjﬂnggyb

1.3@]3

2,#’33
.= 43

4,%53
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Question Number : 110 Question Id : 23366710983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hormone helping Insect Metamorphosis is

[_')}“’ftf /L&DMC}:" Q_'_,;,L;.;(‘I_L( fUﬁff"

Thyroxine /
¢ ) e
EIE
Ecdysone /

2. U}MG”L—CI

Pheromone /

o DXL

Thymosin /
Lx L ale

Question Number : 111 Question Id : 23366710984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which among the following is incorrect about Agnatha?
L] __/’ =
S blE ol oo gl 210
Options :
These are also called as jawless fishes
. /b : :
2L b W OUL & et 8 o)
Scales and fins are present

,Lr_{;;gzé/”f‘:/;p

2.

They adopt parasitic mode of nutrition
o Lt b C s Lok os

They have a circular mouth that acts as sucker

.
—4E L’/ Fgg*ﬁ‘?)?eib‘izvdﬁiﬂ K e

4. %

Question Number : 112 Question Id : 23366710985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which among the following is incorrect about Cyclostomata?

V4 » -
'%cf.{"""@)’ L')!:’“*'—i”«*s vheio cz:ttpjiji)ﬁji,w

Options :

Their vertebral column is made of cartilage
/ . L o / z
f.%g%fjbc:é,u'u)yduﬁ;.w
Lamprey and hagfish are examples of this class
l:_.‘ﬁ / . .2 1/ ¥
) % ,Cj:f(J’__J dL_A;LZ.UﬂU—Pc_J[:/? /:ﬂ"-’))
Their digestive system is complete with stomach, food pipe and intestines

,Z{-Lﬁ;«: |/)5J¢3 U):;T;J‘th!,l} ‘Orzr “( U")(Sﬁ‘afgv_ﬂ

3. ¢
Their circulatory system is closed with 2 chambered heart

L A / ’ ’ i
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4. %

Question Number : 113 Question Id : 23366710986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The endoskeleton of Scoliodon is made up of

» ol /
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‘?\:{f‘;‘}zgcﬁwc:ufua SR AL ST e Ll
Options :

Cartilage /

A

Bones /
b
vl

Scales /

x
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Question Number : 114 Question Id : 23366710987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Salivary glands are absent in

5 5 / ;
<L ZLarora rse g\

Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 99/133



6/7/25, 12:41 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Musca domestica
WAV
Blatta orientalis
St 90 CW
Anopheles maculipennis

o= J Ao Lot

3. %
Rana hexadactyla
JLJJ/l b Ll Ly
4. = - L

Question Number : 115 Question Id : 23366710988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The common name of Calotes versicolor is

rli (‘UW/J)’/LS"’/&U:E’)“'{

Options :
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Garden Lizard

1. L)/,.@/'-;‘ L-J%’ ,U;/
Tree Lizard

5 % b, ,/\}:J 6}"

Wall Lizard
Soudde

Monitor Lizard
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AN Jble

Question Number : 116 Question Id : 23366710989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The body part, which is absent in birds

o> U (7 52545 L 02

Options :
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Forelimb

T /lJ_ng'l
Hindlimb
<) L, Llé'—‘

1.¢

Pectoral girdle

V%
’/_fg U}'M

3.4

Pelvic girdle

LoLAel

Question Number : 117 Question Id : 23366710990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is not a living fossil?
2otzbloliba foee

Options :

Sphenodon
Lo,
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Peripatus
b
2. % L. ": Lf/_’_‘{;

Archacopteryx

4 _
u"f;"—:}:’/ﬁ

3. ¢

King crab
p g
s ¥ Y

Question Number : 118 Question Id : 23366710991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animals are uricotelic?

GW&U){JEL’ L_,{L_ﬁ'){(s*/)g a{wn_)}/_s:"‘i.;»d:')- 202

Options :
Land reptiles, birds and insects

b ‘ 5 !
PN ) &= :_,5’:.,«/(_9':‘__'0./
u]/.io/,ﬁlﬁ-“)-f/_j /,sf‘{'éi‘? >

1.
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Fish and protozoans

» b
W 18) P32/ x}lUL:l"-"f

2. %

Frogs and toads
£ }; ) ‘—-{j”i‘o
Birds and mammals

22 9 "-;’/.;

Question Number : 119 Question Id : 23366710992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following bones form the wishbone of birds?

=i g i 4
‘:?ﬁ,[_st-'/@}}{_j-""?u e sl (5?»50;” 9 O )
Options :

Hindlimbs

o> W

-
1. ® ik
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Clavicles

2.¢ w8

Pelvic girdle

il
. ‘/:“{d@

Question Number : 120 Question Id : 23366710993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The soundbox of birds is also known as

- P / f
RS> & /Uﬁrﬂgg;ﬁ¢o i/l
Options : )
Synsacrum

L e
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Pygostyle
S

2. % =
Syrinx
/
3 LJ“"é//'Jr
Larynx

Question Number : 121 Question Id : 23366710994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Notochord is formed by

} )
il &:»"Cgurlb B

Options :
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Mesodermal cells

1. ¢ C_}::;d’;; -

Ectodermal cells

As e % }y‘{z ‘
Epidermal cells

L g
Endodermal cells

,_u:J‘z, o )% }’;:'j ‘

Question Number : 122 Question Id : 23366710995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following is incorrect about acoelomates?

- / -
2 e (g b Loy 5T 0me ) (Shele o (28 3) $3 |

Options :
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Body cavity is absent in these type of organisms
= o . . A_/ s & o
Afypod caff ettt pd S
Tape worms are the best examples for acoelomates
. s /o k ,J/'n
L Qe o, g0l et
Mesoderm holds the internal organs in its own place
= ! ’ )
Rt o) Wﬁ@”@/ulfﬂﬁ' gyl er2=
Nematodes also belong to acoelomates

™ - ,L J i
fO’CDh‘D“-”: U““fﬂyq &. O"B)JLE”
v -~

4.

Question Number : 123 Question Id : 23366710996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following is coelomate, bilateral and has organ system level of
organization?
b '/ e ) J
o~/ t / L p oS e o et S
o (:1"“’8 éwﬁ (;*U»J (s s25 /va"/b}
e

Options :
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Hemichordates
(_)-;E 5 / KO‘\:‘;-

Aschelminthes

- |
. W‘}Tdf/:

Coelenterata

L b

Platyhelminthes
- b
L 0B ok Yy

Question Number : 124 Question Id : 23366710997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which class has the largest number of animals?
- ’ 4 /
c)w;d,,)f/_,jt?o,?l:/c:’ LAl P OnF L2 O~

P

Options :
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Fishes

Reptiles

;b;9¥%’

Insects
i/
- \ =
3 |
Mammals
r
2L L
4. % = 7

Question Number : 125 Question Id : 23366710998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is a metatherian mammal?

S&ML_UL)J/.‘E%-JL_,U}J&_’W(J\

Options :
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Echidna
" b
.\
Kangaroo
i
52 B

Shrew /

2.

3. % /ﬂf/
Pangolin
B
4. % -

Question Number : 126 Question Id : 23366710999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a functional unit of a body?

s ./ ,
3Ky Qe y (T Leorol
Options :

Mitochondria
b
L S

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 111/133



6/7/25, 12:41 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Cytoplasm
/ b
ool 5o\

Spleen

Question Number : 127 Question Id : 23366711000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[n which of the following type of cells the cell junction is abundant?

; : 5 , -
2L P13 ULCJG)D U Uydbs f(r-“odu:ﬂul
Options :
Cardiac cells

L e
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Prokaryotic cells

C}éﬁgxkf%

2.
Hepatic cells
13 A Lw
3 % == :'# r

Epithelial cells

, L

4.

Question Number : 128 Question Id : 23366711001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following are phagocytic cells?
iy
g(r;c::U){ciﬁ’ FELSborw)
Options :

Neutrophils, Mast cells
g > 1
CE' &',MLDK(IAS 9/))':3
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Mast cells, Macrophages

' L
e e
. er/’/‘:/‘ bl
Mast cells, Antibodies
Pl ( Edols

Neutrophils, Macrophages
! . b‘ !
(F’
o iyl el

Question Number : 129 Question Id : 23366711002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is known as the suicide bag of a cell?

- Ao n 2 4
Y o A 05> £ ¢
Options :
Mitochondria

. L

1.
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Golgi Complex
Ko UK

Lysosome

Lot

Nuclei
e

Question Number : 130 Question Id : 23366711003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following cell organelle is responsible for transporting, modifying, and
packaging proteins and lipids?

Lﬁs‘d‘»’r‘“/ Léwu w»i,uiwg/ S (shs Loy of o2 v )
5 c:,/J:A,.JAJ

Options :

Mitochondria

L5 ¥t
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Endoplasmic Reticulum
b
Ky Lerles i)

Golgi Complex

ol 2

DNA

3.¢

' b
V)V 2

Question Number : 131 Question Id : 23366711004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is DNA made up of?

/c:'ﬁdﬁ ‘?2_{'“7.:: u’jDMA

L ¥
Options :

Adenine — Guanine
e
% O@ﬁufuﬁ
Cytosine — Thymine

. 5 - 8 Jj
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Both Adenine — Guanine & Cytosine — Thymine

b
I o5 }5 Tl | a “G)‘
L e o 8lé-r L Oy e
Cytosine
Sy I3
4.% Glosw b

Question Number : 132 Question Id : 23366711005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who is known as the father of Molecular biology?

/
e Lol 5T LU Bl P Lot = e 0
. L il [ ;
Options :
Linus Car] Pauling

L_f/::jl:d M

James Watson

\;_,]3!,9()—‘:9'

1.v

2. %

Francis H. Crick
' 'J J
3. ® ‘Jf/é 0“-)/9
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Mahlon B. Hoagland
b Soy B

Question Number : 133 Question Id : 23366711006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of RNA involved in protein synthesis?

-3 F = .y
Options :

1. % SI‘]RNA
. » TRNA

. « YRNA

4 % dsRNA

Question Number : 134 Question Id : 23366711007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For combination to occur in DNA molecule the correct pair of the four bases (A, T, G, C)
is?

q a.(s“d;/(sf}y 5;“0()?(#,'1:61’(_>0~L.,!f% L:f_ A & é_y.:/dcpjju:a Al ONA

Options :
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Aand C,Gand T
L TG ot h

Aand T, Cand G

>
o G2IC I A
A and G, T and C

T 1 ;}PEA
x CAIT G

Gand A,Cand T

ﬁfi—j}l C_ (AJ,-P]'GT

4.

Question Number : 135 Question Id : 23366711008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Red muscles are rich in:

gmlygo)gfbfé/&wg o~

Options :
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Myoglobin and cytochrome

4
[ pfFemes

Lactic acid and acetic acid
ﬁbj\ﬁ@t/ﬁ;’}ﬂﬁ
Hemoglobin and glucose

/; 91/,}5/ ,.5) C.)" )}5/ ){‘:
only myosin
xR F

Question Number : 136 Question Id : 23366711009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Open Blood vascular system is usually found in

R F Y d (552> e

Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 120/133



6/7/25, 12:41 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Crabs /

#

Y
1.« o ==

Monkeys /

N

Crows /

u)J/
3 % o

Humans /

4. # 'L__‘)L:)’

Question Number : 137 Question Id : 23366711010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Typically, Spiders’ blood is blue due to the presence of

oo , /1’ LC
é)cilfyl)cﬁé/J)?PG/Uj{Ufuf Ve 2 e /;”b(p

Options :

Haemoglobin /

o Yo
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Hemerythrin /
0. C)/ﬂpj'})‘:‘-:
Haemocyanin /

3. ¢ (‘_)‘v ({‘/)jﬁ

Haemopoitin /
p
oA

Question Number : 138 Question Id : 23366711011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Humans have bones in the vertebrate column

. a i e e o o
SQQLS?{UE',%‘:G"UL”@}*/&?JUJJ =1
O[;tions:

w92

2w 33
5 e o

4. % 53
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Question Number : 139 Question Id : 23366711012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Energy released by catabolic pathways is stored in how many forms?

7 ‘) y e - a/ y Ao o / b
9_%1)(:,43/5}3?0:'”091& (;*'fst)yduﬁ’ A/ 2 20 51/ N/ L\:J/

Options :
L= ]

2.'\%’2

3% 3
sx4

Question Number : 140 Question Id : 23366711013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The TCA cycle occurs in which region of a prokaryotic cell?

s 3 : TeA
Jai e 2292 U:leﬂuf«f@_b -J}x/:é‘/;’ 92 1c

Options :

Cytosol / :
Y
Mitochondria /

Lo
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Ribosomes /

¢
. Sacat led

Golgi complex /

) U‘{"‘:‘:"gl}.g/

4.

Question Number : 141 Question Id : 23366711014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

NAD?* can be derived from which vitamin?

. : % ¥
‘};;‘Lg,y:’dul_;c:uf’lf,ﬁ(ﬁ NAD
Options :
1. % A
2% C
Riboflavin /

L OoUss?/
Niacin /

. /
4.¢ U"/Lf"

Question Number : 142 Question Id : 23366711015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the intermediate of the Kreb’s cycle is utilised in the formation of amino acids?

. N
9 e L}fd[z%,sl:w;bwy/&//wtrﬂ/ufdf—vdﬁ// e |

Options :
Citric acid

o BPI
Malic acid
. opdl

Isocitric acid

g
. A i
% A2/ ’-!// e !‘
a-ketoglutaric acid

Lt B

Question Number : 143 Question Id : 23366711016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The entry of pyruvate into the TCA cycle is inhibited by the presence of a high cellular
concentration of

) : . . A ~/ b $ Gc A
el g Lo JU5 s Xl 3 Ser o sV E w95l omrs>
s bl of
Options :

Pyruvate /

2. ¢
Coenzyme A /

e AobS
AMP /

A (-(;‘-asi-j

4.%

Question Number : 144 Question Id : 23366711017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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FAD is reduced in which of the reaction of the Kreb’s cycle?

345J;;/Fmoufdf>/ w/ﬁz;)wﬁ/
Options :

[socitrate to oxaloacetate .
o Bl f Tty 50
Succinyl CoA to Succinate
RV SPET I Sl
Fumarate to malate

bl ez b jloss

3, % -—
Succinate to fumarate

Jis b Baling ko

4.4

Question Number : 145 Question Id : 23366711018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[n gene therapy, the gene defects are cured in a child at stage.

b/ /S S By
.%L'ab,dsﬁur"k,ﬂaﬂ_ ,gcﬁ)b-)cg{’.cr"_ Uss>
Options :
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Adult /

x b

Teenage /
e D)7

Old/
Ll

3. %
Embryo /
4. (1)‘::.’?

Question Number : 146 Question Id : 23366711019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 1990 the first gene therapy was given to treat which deficiency?

/ = = / 4 w(_pﬂ‘qao
S jLasr d L2 s L S oS Qg = e
Options : -
Smallpox /
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Vitamin E /
= )
2. ® = UPLJ"
Protein /

b
3, % (:):-J’t/-:

Adenosine deaminase /

LoR@I s G D)

Question Number : 147 Question Id : 23366711020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Exogenous antigens are associated with which molecules in order to activate cells?

-~ vlly 15 = o P / ,
Qi'Q({ E:!f/){,.bd c:u)ltuw/‘/ug/,{/{%z,@/(///uzb

Class Il MHC /

Options :

LE D e
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Class ]| MHC /
g ok

Antigen presenting cells /

oj;;imz:l/(h;lj@'y/o

Question Number : 148 Question Id : 23366711021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Name the type of culture which is prepared by inoculating directly from the tissue of an
organism to culture media?

t)_‘pé__r?g{/ Qﬂ@}i)}\@wuolﬁféiﬁ}& Cln!_:ﬁ_(f:’):&;

s d >

Options :
Primary cell culture /

/Jéﬂ,.ljc_g)t_-':;’
1.¢ K
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Secondary cell culture /

/Z,:LS@,&E
2.% 7

Cell lines /
2 P}
b > 1>
Transformed cell culture /

4. %

Question Number : 149 Question Id : 23366711022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following enzymes in bacteria are responsible for restricting the growth of viruses?

O,Eﬂﬁ)ﬁ//o:ﬂgﬁy/u;@BJJ_}}QJQA%WU.%B(J:BZJ,f’

Options :
Restriction endonuclease

' b’ i
L s Wl
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Topoisomerase
$

2. %
Gyrase /
(4
Tl

Protease /

|
4. % /-’—"’??

Question Number : 150 Question Id : 23366711023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a large-scale ecological pyramid representing the whole Earth as an ecosystem, the
position of humans is similar to

o / _ . I

& ol L e iy Ll 207 =°f£;/“”:'=‘
Options :

Lions /

L
1. % /:/./:,-/
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Eagles /
2. & ":'} L:Rl_g

Frogs /

pLe
2 8 ) pn

Anchovis /

> o’v(f.“’

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

g01.digialm.com/CAE/viewHtmIPDFAction.action

133/133



